
  CH-I/Commerce-102C-2/19 

11212/16487 Please Turn Over 

B.Com. 1st Semester (Honours) Examination, 2019-20 

COMMERCE 

 Course ID : 11212  Course Code : BCOMH-102C-2 

Course Title: Business Mathematics 

 Time:  2 Hours  Full Marks:  40 

The figures in the right hand side margin indicate full marks. 

  Candidates are required to give their answers in their own words 
as far as practicable. 

 

 1. Answer any five questions: 2×5=10 

   (a) Third and seventh term of a G.P. series are respectively 4 and 64. Find the series. 

   (b) Prove that logହ ට5ඥ5√5…ߙ = 1. 

   (c) If ܥ௥ଶହ = ଶ௥ାଵଶହܥ  then find the value of ܥହ௥ . 

   (d) Find the maximum value of ݂(ݔ) = ଷݔ2 − ଶݔ9 + ݔ12 + 25. 

   (e) If ݂(ݔ) = −√16 − ଶ, find the value of lim௫→ଵݔ ௙(௫)ି௙(ଵ)௫ିଵ . 

   (f) If ܷ = {1, 2, 3, 4, 5, 6, 7, 8, 9} and ܣ = {2, 4, 6, 8}, then find ܣᇱ. Also verify that ܣܷܣᇱ = ܷ. 

   (g) If ܣ = ቂ2 53 1ቃ, find ିܣଵ. 

   (h) Find න ௗ௫௫మି௔మ. 
 2. Answer any four questions: 5×4=20 

   (a) If 
୪୭୥௫௬ି௭ = ୪୭୥௬௭ି௫ = ୪୭୥௭௫ି௬ , then show that ݔ௫ݕ௬ݖ௭ = 1. 

   (b) If ܽଶ, ܾଶ, ܿଶ are in A.P. series then prove that 
ଵ௕ା௖ , ଵ௖ା௔ , ଵ௔ା௕ are also in A.P. series. 

   (c)  (i) If ݂(ݔ) = ݔ2 + 3, ݔ > 2 

       = ݔ3 + 4, ݔ ≤ 2, then 

      show that lim	௫→ଶ  .does not exist (ݔ)݂

     (ii) If ݔଷ + ଷݕ =  find ,ݕݔ3ܽ
ௗమ௬ௗ௫మ. 2+3=5  

   (d)  (i) Form the partial differential equation by eliminating the arbitrary constants ܽ and ܾ 
from the equation. 

ݖ        = ݔ) + ݕ)(ܽ + ܾ) 
     (ii) Find ׬ ଶݔ) + ଵିଵݔ݀(4 . 3+2=5 
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   (e) For any two sets prove that (ܣ ∪ ᇱ(ܤ = ᇱܣ ∩  .ᇱܤ
   (f) Verify (ܤܣ)் =  where ்ܣ்ܤ

ܣ     = ቂ1 2 33 −2 1ቃ and ܤ = ൥ 1 22 0−1 1൩. 
 3. Answer any one question: 10×1=10 

   (a)  (i) If ܥଵ௡ , ଶ௡ܥ , ଷ௡ܥ  are in A.P series then find the value of ݊. 

     (ii) If ݔ = log௔(ܾܿ) , ݕ = log௕(ܿܽ) and ݖ = log௖(ܾܽ), then show that 
ଵ௫ାଵ + ଵ௬ାଵ + ଵ௭ାଵ = 1. 

     (iii) Find the value of the determinant อ0 1 22 0 11 2 0อ. 3+4+3=10  

   (b)  (i) Show that every square matrix can be expressed as a sum of a symmetric matrix and a 
skew-symmetric matrix uniquely. 

     (ii) State Euler’s theorem. 

     (iii) Find the value of lim௫→ଶ ௫మି଻௫ାଵ଴௫ିଶ . 5+2+3=10 

 

__________ 
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øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five from the following questions: 2×5=10

ÚœÀ‰¬ı˛ √õ∂ùü&ø˘ ŒÔÀfl¬ Œ˚ Œfl¬±ÀÚ± ¬Û±“‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is Budgetary Control?

ı±ÀÊÈ¬ ”̃̆ fl¬ øÚ˚˛LaÌ fl¬œ∑

(b) What is zero-base Budgeting?

”̇Ú…øˆ¬øMfl¬ ı±ÀÊÈ¬ fl¬±Àfl¬ ıÀ˘∑

(c) What do you mean by M.B.O.?

M.B.O. ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(d) What is Management?

ı…ı¶ö±¬ÛÚ± fl¬±Àfl¬ ıÀ˘∑

(e) What is Planning?

¬Ûøı˛fl¬äÚ± fl¬±Àfl¬ ıÀ˘∑

(f) What is Autocratic Leadership?

Δ¶§ı˛Ó¬±øLafl¬ ŒÚÓ‘¬Q fl¬±Àfl¬ ıÀ˘∑

(g) What is Span of Management?

ı…ı¶ö±¬ÛÚ±ı˛ ¸œ˜± ı± ¬Ûøı˛øÒ fl¬œ∑

(h) What is Control?

øÚ˚˛LaÌ fl¬œ∑
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2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Discuss the functions of Management.

ı…ı¶ö±¬ÛÚ±ı˛ fl¬±˚«±ı˘œ ’±À˘±‰¬Ú± fl¬Àı˛±/

(b) ‘Management is a Universal Process’— Discuss.

ëı…ı¶ö±¬ÛÚ± ¤fl¬øÈ¬ ¸ı«ÊÚœÚ √õ∂øSê˚˛±íñ ’±À˘±‰¬Ú± fl¬Àı˛±/

(c) Explain basic steps in planning.

¬Ûøı˛fl¬äÚ±ı˛ ˜”˘ Ò±¬Û&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

(d) What are the objectives of Man Power Planning?

˜±Úı ˙øMê ¬Ûøı˛fl¬äÚ±ı˛ Î¬◊ÀV˙…&ø˘ fl¬œ fl¬œ∑

(e) Explain the importance of control.

øÚ˚˛LaÀÌı˛ &èQ ’±À˘±‰¬Ú± fl¬Àı˛±/

(f) What are the procedures of selection of Employee?

fl¬˜«œ øÚı«±‰¬ÀÚı˛ ¬ÛX¬øÓ¬&ø˘ fl¬œ fl¬œ∑

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Explain Abraham Maslow’s Hierarchy of need theory.

˜…±¸À˘± ıøÌ«Ó¬ √õ∂À˚˛±ÊÚ Sê˜ô¶∏ı˛ Ó¬MWøÈ¬ ı…±‡…± fl¬Àı˛±/

(b) Discuss the various social responsibilities of Management.

ı…ı¶ö±¬ÛÚ±ı˛ ¸±˜±øÊfl¬ ±ø˚˛Q¸˜”˝ ’±À˘±‰¬Ú± fl¬Àı˛±/

–––––––––––––
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øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions: 2×5=10

ÚœÀ‰¬ı˛ √Œ˚ Œfl¬±ÀÚ± ¬Û±“‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is management?

ı…ı¶ö±¬ÛÚ± fl¬œ∑

(b) What do you mean by planning premises?

¬Ûøı˛fl¬äÚ±ı˛ ’Ú≈ø˜Ó¬ øı¯∏˚˛ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(c) Define staff organisation.

fl¬˜«œ ¸—·Í¬ÀÚı˛ ¸—:± ±›/

(d) What is decentralisation?

øıÀfl¬fœfl¬ı˛Ì fl¬œ∑

(e) What is leadership?

ŒÚÓ‘¬Q±Ú fl¬œ∑

(f) What is planning?

¬Ûøı˛fl¬äÚ± fl¬±Àfl¬ ıÀ˘∑

(g) What do you mean by motivation?

’Ú≈À√õ∂ı˛Ì± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(h) What is control?

øÚ˚˛LaÌ fl¬±Àfl¬ ıÀ˘∑
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2. Answer any four of the following questions: 5×4=20

ÚœÀ‰¬ı˛ Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Explain various function of management.

ı…ı¶ö±¬ÛÚ±ı˛ √õ∂Ò±Ú √õ∂Ò±Ú fl¬±Ê&ø˘ ı…±‡…± fl¬Àı˛±/

(b) What are the steps of a good control system?

¤fl¬øÈ¬ ˆ¬±˘ øÚ˚˛LaÌ ¬ÛX¬øÓ¬ı˛ Ò±¬Û&ø˘ fl¬œ fl¬œ∑

(c) What are the characteristics of a good plan?

ˆ¬±˘ ¬Ûøı˛fl¬äÚ±ı˛ Δıø˙©Ü…&ø˘ fl¬œ fl¬œ∑

(d) What are the importance of motivation in management?

ı…ı¶ö±¬ÛÚ±˚˛ ’Ú≈√õ∂±øÌÓ¬fl¬ı˛ÀÌı˛ &èQ fl¬œ∑

(e) Write short note on delegation of authority.

ˆ¬±ı˛¬Û«ÀÌı˛ Î¬◊¬Ûı˛ È¬œfl¬± Œ˘À‡±/

(f) Discuss the methods of employee selection.

fl¬˜«œ øÚı«±‰¬Ú ¬ÛX¬øÓ¬¸˜”˝ ıÌ«Ú± fl¬Àı˛±/

3. Answer any one of the following question: 10×1=10

ÚœÀ‰¬ı˛ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Discuss Theory-X and Theory-Y in motivation.

’Ú≈À√õ∂ı˛Ì±˚˛ X-Ó¬MW › Y-Ó¬MWøÈ¬ ’±À˘±‰¬Ú± fl¬Àı˛±/

(b) What is MBO? What are its objectives? 2+8=10

MBO fl¬œ∑ ¤ı˛ Î¬◊ÀV˙…&ø˘ fl¬œ fl¬œ∑

–––––––––––––
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øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions: 2×5=10

ÚœÀ‰¬ı˛ √Œ˚ Œfl¬±ÀÚ± ¬Û±“‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Which activities belong to tertiary sector?

Œfl¬±Ú Œfl¬±Ú fl¬˜«fl¬±G¬ Ó‘¬Ó¬œ˚˛ ô¶∏Àı˛ı˛ ’Ô«ÕÚøÓ¬fl¬ Œé¬ÀSı˛ ¸±ÀÔ ˚≈Mê∑

(b) Define poverty.

±øı˛À^ı˛ ¸—:± ±›/

(c) Mention two causes of low productivity of agriculture.

ˆ¬±ı˛Ó¬œ˚˛ fl‘¬ø¯∏ı˛ ¶§ä Î¬◊»¬Û±Ú˙œ˘Ó¬±ı˛ ≈øÈ¬ fl¬±ı˛Ì Î¬◊À{°‡ fl¬Àı˛±/

(d) Write the full form of NABARD.

NABARD-¤ı˛ ¬Û”Ì«ı˛+¬Û Œ˘À‡±/

(e) What do you mean by industrial sickness?

ø˙ä è¢üÓ¬± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(f) Mention two features of import substitution policy of India.

ˆ¬±ı˛Ó¬ıÀ¯∏«ı˛ ’±˜±øÚ ¬Ûøı˛ıÓ«¬Ó¬± ÚœøÓ¬ı˛ ≈øÈ¬ Δıø˙©Ü… Î¬◊À{°‡ fl¬Àı˛±/

(g) What is disguised unemployment?

ÂΩÀı˙œ Œıfl¬±ı˛Q fl¬±Àfl¬ ıÀ˘∑

(h) What do you mean plan holiday?

¬Ûøı˛fl¬äÚ±ı˛ ’ıfl¬±˙ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑
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2. Answer any four of the following questions: 5×4=20

ÚœÀ‰¬ı˛ Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is national income? Comment on the limitations of estimates of NI in India.   1+4=5

Ê±Ó¬œ˚˛ ’±˚˛ fl¬±Àfl¬ ıÀ˘∑ ˆ¬±ı˛ÀÓ¬ı˛ Ê±Ó¬œ˚˛ ’±˚˛ ¬Ûøı˛˜±À¬Ûı˛ SnøÈ¬&ø˘ ¸•ÛÀfl«¬ ˜Ó¬±˜Ó¬ ±›/

(b) Mention major objectives of Land Reform Policy. Give two arguments in favour of and

two arguments against Land Reform in India. 1+4=5

ˆ”¬ø˜ ¸—¶®±Àı˛ı˛ Î¬◊ÀV˙…&À˘± Î¬◊À{°‡ fl¬Àı˛±/ ˆ”¬ø˜ ¸—¶®±Àı˛ı˛ ¬ÛÀé¬ › øı¬ÛÀé¬ ≈øÈ¬ fl¬Àı˛ ˜Ó¬±˜Ó¬ ±›/

(c) Name two public sector enterprises in India. Briefly explain the present problems of public

sector in India. 1+4=5

≈øÈ¬ ¸ı˛fl¬±ı˛œ Î¬◊À…±À·ı˛ Ú±˜ fl¬Àı˛±/ ¸ı˛fl¬±ı˛œ Î¬◊À…±· Œé¬S&ø˘ı˛ ıÓ«¬˜±Ú ¸˜¸…±&ø˘ ¸—Àé¬À¬Û ı…±‡…± fl¬Àı˛±/

(d) What do you mean by globalization? Discuss the impact of globalization on Indian

economy. 1+4=5

øıù´±˚˛Ú ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ ˆ¬±ı˛Ó¬œ˚˛ ’Ô«ÚœøÓ¬ÀÓ¬ øıù´±˚˛ÀÚı˛ Ù¬˘±Ù¬˘ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

(e) What is planning? What are the main objectives of planning in India? 1+4=5

¬Ûøı˛fl¬äÚ± fl¬±Àfl¬ ıÀ˘∑ ˆ¬±ı˛ÀÓ¬ ¬Ûøı˛fl¬äÚ±ı˛ √õ∂Ò±Ú Î¬◊ÀV˙…&ø˘ fl¬œ fl¬œ∑

(f) Discuss various measures adopted by the government of India to eradicate the poverty.

±øı˛^ ”ı˛œfl¬ı˛ÀÌı˛ ¸ı˛fl¬±ı˛ ·‘˝œÓ¬ øıøˆ¬iß ı…ı¶ö±&ø˘ ıÌ«Ú± fl¬Àı˛±/

3. Answer any one of the following question: 10×1=10

ÚœÀ‰¬ı˛ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What do you mean by ‘Green Revolution’? Discuss the merits and demerits of Green

revolution in India. 2+8=10

¸ı≈Ê øıõ≠ı ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ ¸ı≈Ê øıõ≠Àıı˛ ≈̧Ù¬˘ › fl≈¬Ù¬˘&ø˘ ıÌ«Ú± fl¬Àı˛±/

(b) What is central bank? Describe the main functions of central bank. 2+8=10

Œfl¬fœ˚˛ ı…±Ç¬ fl¬±Àfl¬ ıÀ˘∑ Œfl¬fœ˚˛ ı…±Ç¬ ¤ı˛ ˜”‡… fl¬±˚«±ı˘œ ıÌ«Ú± fl¬Àı˛±/

–––––––––––––
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øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five questions: 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û±“‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is Contra Entry?

øı¬Ûı˛œÓ¬ ±ø‡˘± fl¬œ∑

(b) What is Journal?

Ê±Àı± fl¬œ∑

(c) What do you mean by Contingent Assets?

¸y¬±ı… ¸•ÛøM ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(d) What is meant by ‘Mixed Basis of Accounting’?

ëø˜| ø˝¸±ıı˛é¬Ìí ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(e) What is compensating error?

¶§˚˛— ¸—À˙±øÒÓ¬ ˆ≈¬˘ fl¬œ∑

(f) How do you value consignment stock?

˜Ê≈Ó¬ ‰¬±˘±Úœ ¬ÛÌ… Ó≈¬ø˜ fl¬œˆ¬±Àı ˜”˘…±˚˛Ú fl¬ı˛Àı∑

(g) What do you mean by Renewal of Bill?

øıÀ˘ı˛ Úıœfl¬ı˛Ì ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(h) What is del credere commission?

Á“¬≈øfl¬ ı±˝fl¬ dı˛œ fl¬œ∑
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2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Distinguish between Profit & Loss A/c and Income & Expenditure A/c.

˘±ˆ¬é¬øÓ¬ı˛ ø˝¸±ı ¤ı— ’±˚˛ı…À˚˛ı˛ ø˝¸±Àıı˛ ˜ÀÒ… ¬Û±Ô«fl¬… øÚÒ«±ı˛Ì fl¬Àı˛±/

(b) From the following particulars, prepare the Bank Reconciliation Statement:

(i) Bank Overdraft as per Cash Book ` 16,200.

(ii) A cheque deposited into Bank but not recorded in the Cash Book ` 700.

(iii) A cheque for ` 4,000 deposited but collection as per the Bank Statement ` 3,996.

(iv) A cheque deposited but not yet collected by the bank ` 2,320.

(v) Bill collected directly by bank ` 3,500.

[˝◊—ı˛±Êœ √õ∂ùü ^©Üı…]

(c) On careful examination of Books of Account, you found the following mistakes:

(i) Wages paid for installation of a machine for ` 300 wrongly debited to Wages

Account.

(ii) Repairing charges of ̀  100 for machinery was wrongly debited to Machinery Account.

(iii) Goods sold to Mr. X for ` 500 wrongly debited to Mr. Y’s Account.

Rectify the above errors.

[˝◊—ı˛±Êœ √õ∂ùü ^©Üı…]

(d) How does Joint Venture differ from Partnership?

Œ˚ÃÔ Î¬◊À…±· › ’—˙œ±øı˛ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… Œfl¬±Ô±˚˛∑

(e) The book value of Plant and Machinery on 01.01.2015 ` 10,00,000 in the books of

M/S S. Bros. New machinery for ` 50,000 was purchased on 01.10.2015 and another

machinery of ` 1,00,000 on 01.07.2016. On 01.04.2017, machinery (Book value had been

` 1,50,000 on 01.01.2015) was sold for ` 80,000. Depreciation had been charged at

10% p.a. on Straight Line Method.

Show the Machinery Account from 01.01.2015 to 31.12.2017 assuming that book value

of Plant and Machinery on 01.01.2015 indicates cost price of the assets.

[˝◊—ı˛±Êœ √õ∂ùü ^©Üı…]

(f) Explain the objectives of trial balance.

Œı˛›˚˛±ø˜À˘ı˛ Î¬◊ÀV˙…&ø˘ ıÌ«Ú± fl¬Àı˛±/



3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is meant by Single Entry System of Book-keeping? How profits or loss can be

ascertain under Single Entry System? Mention two major defects of Single Entry System

of accounting. 2+6+2=10

¤fl¬±˝±ı˛± ±ø‡˘± ¬ÛX¬øÓ¬ÀÓ¬ ø˝¸±ıı˛é¬Ì ı˘ÀÓ¬ fl¬œ ı≈Á¬±˚˛∑ ¤fl¬±˝±ı˛± ±ø‡˘± ¬ÛX¬øÓ¬ÀÓ¬ fl¬œˆ¬±Àı ˘±ˆ¬ ı±
Œ˘±fl¬¸±Ú øÚÒ«±ı˛Ì fl¬ı˛± ˚±˚˛∑ ¤˝◊ ¬ÛX¬øÓ¬ı˛ ≈øÈ¬ √õ∂Ò±Ú SnøÈ¬ Î¬◊À{°‡ fl¬Àı˛±/

(b) A consigned 5000 kg. of tea costing ` 40 per kg. to B. A incurred ` 3,000 on freight and

` 2,000 on insurance. 500 kg. of tea were lost in transit. The insurance co. admitted the

claim for ` 15,000. After receiving the goods B spent ` 3,450 on carriage, ` 500 on selling

expenses and ̀  500 on godown rent. B was allowed a commission of 5% on sales (including

2% commission as del credere). 3000 kg. of tea were sold at ` 64 per kg. 25 kg. of tea

were lost due to breakage of a chest which was considered to be normal.

Prepare Consignment Account, Consignee Account and Goods Lost in Transit Account

in the books of A. 5+3+2=10

[˝◊—ı˛±Êœ √õ∂ùü ^©Üı…]
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